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Vynasob a secti

1 Bu(u+v+1) =
3u? 4+ 3uv + 3u
2) —3(2a—-b) =
3b — 6a
3)  2a(x—y*) =
2ax — 2ay?
4) 2a+3b)(x+y) =
2ax + 3bx + 2ay + 3by
5) Bx—-52x+1) =
6x%>—7x—5
6) (1+5x)(5—-4x) =
5+ 21x — 20x?
7))  (x*—=5x+2)(x—4)=
x3 —9x?% + 22x — 8
8) (2a? —ab + b?)(3a — 5b) =
6a3 — 13a®b + 8ab? — 5b3
9) (a—b+c)la+b—c)=
a’? — b? — c? + 2bc
10) (a*—a3b+ a?b? —ab3® +b*)(a+b) =
a® + b°




1)

12)

13)

1 4)

(a* + ab + a*b? + ab3 + b*)(a — b) =

(2a — b)[a(4a+b) +b(a+b)] =

—xy(x +y) — y{[3y* — x(5y + 2x)] — y(3y — 4x)} =

ab(a + b) —a{b(3b — 2a) — [a® — b(3a — 2b)]} =

a® — b>

8a3 — b3



15) (15a3x® — 10a*x* — 25a°x3) : 5a3x3 =

3x% — 2ax — 5a?

a+x0,x+0
16) (m*—m3n+m?n®—mn3): (m*+n?) =
m? —mn
m? +n% # 0
17) (Bvd—17v%+21v—43) : (v*—8v + 15) =
s 47 4 S
v4—8v+15

v#5v#3




